NUMBER SYSTEM | PART-12

Dividend, Divisor, Quotient & Remainder

I N =l 144 9 o7 TG gt 98 ¥ a=ar & | i N

8 T fear iy, ° Ee 9 g ?
(A) 1 (B) 5
(C) 2 (D) 0

If N divided by 13 then remainder 7 when 2N
divided by 13 then find reminder?

Tt N ol 13 & 9 fe=n Sme 4 Siawet 7 == & <" 2N
I 13 ¥ 0T fean S a1 R 7 ?

(A) O (B) 1

(€)5 (D)2

If n divided by 125 the remainder obtained is
37. It N is divided by 15 then find the remain-
der.

Tt N =61 125 9§ 7T 5= <1 &, 1 37 9Fed Wil il
F19fe N &l 15 & 97 fear =g oF $ravhet S &Y 7
(A)7

(B) S

(C) 25

(D) Can't be determined/ feifta =2 forar < s

If N divided by 13 then remainder 7 when 2N
divided by 13 then find reminder.

=t N =61 13 9 o907 fa=n s i 39 7 si=dl &9 2N
Wl 13 ¥ 0T fean S a1 R 2 2

(A) 6 (B)O

()10 (D) 11

A number N gives a remainder of 7 when di-
vide by D and a remainder of 20 when divided
by 2D what will the remainder obtained when
2N ig divided by D?

et T = D ¥ 9P W7 99 9= E 927 2D 9 9
T TR 20 WY 7=l ¥, G 2N # D 9F &7 W 9

EL LIV
(A) 3 B)o
)7 (D) 1

When a number is divided by a certain divisor
remainder is 7, if same number is divided by
double of divisor then remainder is 20 then
find the divisor?

ol He, N ¥ ofisieh § 9 24 7L 99 7 o= § AR S9
e | STk % S E 9ET 29 W 20 99 9=l g,

10.

11.

(C) 13 (D) 11

If a number is divided by 13 leaves remainder
11. If the twice of square of this number is
divided by same divisor find remainder?

=fs foredt T 1 13 ¥ apT 29 R 11 99 5= & 5=
deH el HPHH 13 T R 11 I9a=a s | 59
oA % A R R 13 H AF A W S 9 e 2
(A) 8 (B) 10
(€0 (D) 2

When anumber is divided by a certain divisor
remainder is 39, if another no. is divided same
divisor remainder is 33. If the sum of both
numbers is divided by same dividor leaves re-
mainder 19, Find diviser?

S et Hen it a9 9 fE= =Y @t 39 saRe
=1 € | T TRt e Hen & S6 i AR E e feE i,
ql FRe 33 o=l € | =S ST G % 9 W SH el
A 9T fEm e Al 19 9rTRe Wl §, 9l 9o J w2
(A) 19 (B) 51

(C) 47 (D) 43

If N divided by 125 then remainder 37 when N
divided by 25 find the remainder?

=fe N ol 125 & 4r7 fo=1 =g, <f 37 39 o= € | 519 N

w1 25 ¥ 9 fear g, 1 9rawRe ghm 2
(A) 12 (B) 24
(C) 37 (D)0

In the process of division, divisor is 12 times
quotient and 3 times remainder. If remain-
der is 36. the dividend is?

farrrsr =61 wfohan H STk, SFTRS 1 12 A1 S IR et
=1 5 71 E | = IR 36 ¥ | e = gem

(A) 2736 (B) 2725

(C) 2836 (D) 2700

When anumber is divided by a certain divisor
remainder is 13, if another no. is divided same
divisor remainder is 17. If the sum of both
number is divided by same divisor leaves re-
mainder 8 then find divisor?

S et S =t a9 9 fE= e @ 13 saRe
=T & | =fs sl Sl e 6 st T ¥ o e -
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12.

13.

14.

15.

16.

17.

Mother's * Number System (Part-12) .

T 9 e A s.ﬁwm%, T ISTF T F 2
(A) 21 (B) 19
(C) 17 (D) 22

N is natural number which is less than 2000
and also multiple of 8. N leaves remainder 2,
4 and 5 on heing successively divided by5, 6, 7
how many values are possible for N?

N T YT WA & W1 f3F 2000 B SR a0 8 | E |
T NF 5,6, 7H 4T WHAY 2, 4, 5 ATI=AE,

MNFFH AR E@EE?
(A) 0 (B)1
(C) 2 (D) 3

A number when divided by 7 and & gives re-
mainder 1 and 4 respectively. Whatis the low-
est such natural number?

TF T 1 7 ST 6 | 9 o o A 1 2w 4 9 o=
¥, 7t it o Bt W W 9 S 2

(A) 19 (B) 21

(C) 13 (D) 22

If a number 'N' is divided by a divisor 'D' of 2
digits gives aremainder 52. If 5N is divided by
D gives remainder 4, then how many values
of D are possible?

=t TRt e ‘N =l & ST o “TorR | T Toem e At
52 90 T ¥ | A 5N F I 9 9 o . a4 9w
T, @ o D ¥ R A e € 2

(A) 0 (B) 2

(€)1 (D)3

A number P is divided by 111 leaves remain-
der 7. Find the remainder when 6P is divided
by 74 7?

e P 111 9§ M R St 7 99 ®ar g, @ 6P

74 T T T o, @ 9w JE w2
(A) 42 (B) 73
(C)D (D) 1

m is a positive integer such that m* + 18 is
completely divisible by m. Find all possible
values of m.

m T YA U 56 TFR § T m® + 18, m | T4
Tavs= ® | m % Tt o AE F we Tm A 2

(A) S (B) &

(C) 4 (D) 2

If two different number are divided by 42 gives
remainder 35 and 27 respectively. If sum of the
both number is divided by 42 what will be the
remainder.

18,

19,

20.

21.

22,

R B e . mL I w e i B R o
27 W 2T 2 | =i Sl s % 9w 6 He d v

= T W IR Sisi- CGL Mains 2019
(A) 20 (B) 24
(C) 26 (D) 30

When three positive integer a, b, ¢ divided by

13 gives remainder 9, 7 and 10 respectively.

What will the remainder when a + 2b + 5c¢ is

divided by 13.

ST YRR H a, b 3 ¢ & 13 4 e e s g

Tl FHE: 9, 7 3R 10 ITReT AT ST E 1 99 a + 2h + Sc

w1 13 & faafo = s & a9 9 st S w0
CGL Mains 2019

(B) 10

(D)8

(A) O
(€) S

When positive numbers x, v and z are divided
by 31, the remainder are 17, 24 and 27 respec-
tively. When (4x - 2y - 3z) is divided by 31, the
remainder will be :

Tfe i+ et o x, v 3R z 1 31 9 Taenfem fensmg
Tl TG SHE: 17, 24 3N 27 Wd 1478 4x - 2y — 3z

31 9 faifem e 9Img a1 SraRe aaret-
(A) 9 (B) 16
(C) 8 (D) 19

If a number ‘N’ is divided by a divisor ‘D’ of 2
digits gives a remainder 52. If 5N is divided by
D gives remainder 4, then find the value of D.
wfg Topelt S N ol €1 37kl % Aotk D & o7 faan =g d1
52 39 ¥Eal g | =t 5N & areiw 9 an famn =g dt 4 9w
T & Tl TR T A ST

(A) 64 (B) 16

(C) 72 (D) 96

When anumberis divided by 18 gives a remain-

der 7. When the same number is divided by 12
gives remainder n. Find the possible values of

11.

=ife fopelt Hezn =t 18 & faifsra fopar < o 2ot o &0 H
7 ST & | 241w 12 9 faieta fomn 9 Sk o wre
T, n % e g gyE E 7

() 2 (B)O

(€)1 (D)3

When Three number divided by N. They give
remainder 43, 47, 49. When sum of the three
number divided by N it gives remainder 9. Find
the possible value of N.

4 FEmatl & N & fafea o W 36 shH: 43, 47
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23.

24.

25.

27.

28.

=
]

Faamfera foran =T 91 9 9 W BT | N % S| /e I

-
(A) S (B) 2
(€) 3 (D)7

How many natural number helow 660 are di-
visible by 5 and 11 but not by 3.

660 % T RRaT AR SE 5 o) 11 9 et €,

IR 3 W T CPO 2019
(A) 8 (B)o
(C) 10 (D) 11

How many natural numbers less than 1000 are
divisible by 5 or 7 but not by 35.

1000 & =9 fopet wfas wed 5 7 § e €

oIfeR 35 | el SSC CPO 2019
(A) 285 (B)313
(C) 341 (D) 243

From the digits 2, 3, 4, 5, 6, 7 how many 5-dig-
its numbers can be formed that have distinct
digits are multiple of 127

8 2, 3, 4, 5,6, 7 H WA FH 5 ST A UH At
AT AT ST Tt €, 9 12 H qora: Taentea g1 2

(A) 24 (B) 48

(Cy72 (D) 60

Let n b the number of diffrent five digit number
divisible by 4 with the digit 1, 2, 3, 4, 5 and 6 no
digit being repeated in the numbers. What is
the value of n.

n TF e g, fow 5 o &, 5 4 5 qora: fafom € qen
5w 1, 2, 3, 4, 536 ¥\ fE o ofF %t gt
Tof =1 T & & WAl n ¥ R I Taw B 2

(A) 144 (B) 168

(C)192 (D) NOT

How many five digit numbers can be formed
using the digit 2, 3, 8, 7, 5 excatly once such
that the numbers is divisible by 125 :

2, 3,8, 7,5 F = AN FF T A A U PR
TEATE FAE S WD §, S 125 9 vt et 5 2

(A) O (B) 1

(€) 4 (D) 3

In a question on division, the divisor is 7 times
the quotient and 3 times the remainder. If the
remainder is 28, then the dividend is:

T W1 % WFT H 9Teih, MFTHS =1 7 T[T 3T 9% 5l 3
T | Al I 28 § 4 e B

(A) 588 (B) 784

(C) 823 (D) 1036

30.

31.

32,

33.

34.

.. .Mother's » Number System (Part-12)

H

tient and twice the remainder. If a and b are
respectively the divisor and the dividend, then:

a7 % YT H, I YRR 1 4 AT AR TR S
% 1 9fq a 3iX b wAw: ek Sl e F A1

4b—-a? 4b - 2a
P20 B P22 -
(C) (a+ b)? = 4ab (D) @= 45

When three number are divided by D gives re-
mainder 51, 11 and 32 respectively. If sum of
the three no. is divided by D gives remainder
42. How many value of D are possible?

o weER i D 9 A & W geEa w9 51, 11
3R 32 T 7 | i Hensii % = =l v D ¥ fafaa e
I E A IT 42 TwAE | D T s TR E 2

{A) 10 (B) 15

(€)6 (D)1

If a number ‘N’ is divided by a divisor ‘D’ of 2
digits gives remainder 24. I[f 5N is divided by D
gives remainder 20. Then which value is pos-
sible?

=fe ol Hezn N’ =l &1 371 % ot § 907 faar sy di 24
W TAE | AR SN 1 o T A e e A 20 99
%, G 91tk D okl i1 5 99 € 7

{A) 70 (B)75

(C) 25 (D) 25

When positive numbers x, v and z are divided
by 31, the remainder are 17, 24 and 27 respec-
tively. When (4x — 2y - 3z) is divided by 31, the
remainder will be :

Tfe i et IO x, v 3R z 1 31 § Taenfem fen smg
Al TR HHY: 17, 24 3N 27 W 1978 4x - 2y — 3z FH

31 9 faifem e 91mg a1 SraRe araret-
(A) 9 (B) 16
(C) 8 (D) 19

If two different number is divided by a certain
number give remainder 45 and 40 respectively.
If sum of both number is divided by this num-
ber gives remainder 37. Find this number.

B STem-oTerT el i U v Wem ¥ Ir e W
Y FAE: 45 ST 40 T BT | FG S el 2 A
=1 SHT AT | 9 =1 S 1 2R 37 9T g1 E | S5

= I Faei-
(A) 52 (B) 58
(C) 48 (D) 79

If n is divided by 105 then remainder is 12.
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Mother’s » Number System (Part-12)

+raaiclar:

Tl n =T 105 F i e sie a1 $awet 12 s=ar 8 1 9fe n
10 T 7 Tezn ST At e wanet |

(A) 5 (B) 2

cya (D) Can’t be determine
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Solution

1. (B 260
2. (A) = p TR
a3 ) Possible value of D are factor of 256
' Factor of 256 = 1,2,4,8,16,32,64,128,256
4. (D) S0 possible value = 64
S. (D) 21.(A) 18| < |
: XY
6. (A) 7
X = 18vy+7
7. Q) L
8. (B number
18y + 7
9. (4 When 31(2 divide remainder given
10. (C)
¥ Remainder
11. (Q) 0 7
1 1
12. (C) 5 -
13. (A 3 1
4 7 . Possible value=1,7
14. (D) 5 1
15. (A) 6 7
7 1
16. (C) 8 7
35+ 27 62 9 1
7.(A) =550
18.(D) a=13P +9 22.(B) %= Nx +43
b=13P,+7 gt
¢=13P,+ 10 y = 47
. 4 z=Nz +49
.a+h+2c
= 13P,+ 9+ 2(13P,+ 7) + (13P,+ 10) N{x +y +2,)+139 _ 9(R)
x5 N
= 13P, + 26P,+65P,+ 9+ 14 + 50 139
Required Remainder = kA 9(R)

13(P, + 2P, +5P,}+73 73
= & == N [139 | R
13 13 130 130
= 8 (Remainder) 5 /\

‘ 4x17-2x24+3x27 1 130
19.(C) Required answer = 31 2 65
5 26
=8 10 13
20.(A) N=Dx+ 52 - Only two values are possible =65, 130
SN =5Dx + 260
5 23.(A) Ifthe number is divisible by 5 and 11 it must
. OoDx+260 _ be divisible by 55
given HR)
D The numbers are less than 660
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Mother's » Number System (Part-12

LT R ate b ] adtin 1 gy =

659
55 - 11
The numbers are such, multiples is the quo-
tientof 11 by 3

, 11
Quotient a3 =3

Out of 11 multiples of 55, 3 are multiples of
3.

Hence, numbers less than 660 and divisible
by 5and 11 butnotby3=11-3=8

999

24.{A) Divisible by 5, 5 199
999
= divisible by 7, —— =142
999
= divisible by 35, 35 " 28

Required answer = (199 + 142 ) - 28 x 2
=285

25.(D) Any multiple of 12 should be a multiple of 4

and 3.

Sum of the digits should be a multiple of 3.

Sum of all numbers from 2 to 7 is 27. So, if

we have to drop a digit and still remain a

multiple of 3, we should drop either 3 or 6.

So, the possible 5 digits are 2,4, 5,6, 7 or 2,

4,5,7.

= When the digits are 2, 4, 5, 6, 7, the last two
possible digits to be a multiple of 4 are 24,
64, 52, 72, 56, 76 with this set of &5 digit we
can 36 different numbers.

= When the digits are 2, 4, 5, 7, the last two
possible for the number 32, 52, 72, 24 for
this combination there are 24 different num-
ber possible.
So, total number = 36 + 24 = 60

uu

26.(C) Last two digit of number 12, 16, 24, 32, 36,
52, 56 and 64.
T
4 x 3x2 8 —> Number
Total number =4 = 3 x 2 x 8§ = 192,

27.[C) Letus find some of the smaller multiplies of
125, They are 125, 250, 375, 500, 625, 750,
875, i, .
A five digit number is divisible by 125, the
last three digit are divisible by 125. So that
the possibilities are 375 and 875. 5 showed
in unit place and 7 should come in ten’s
place thousand place should contain 3 or 8.

R T

Remaining first two digit we can arrange in
L, ways. So we can have L, x L, =4. Such
numbers there are 23875, 32875, 28375,
82375,

28..D) R=128
divisor = 28 x 3 = 84,

. 84
Quotient = — =12
dividend =84 x 12+ 28
= 1008 + 28
= 1036
a
29.(A) R= 5
divisor = a, dividend="hb

) a
Quotient = —

N

a a

- — 4+ —
D aX4 2
4b=a%?+ 2a

db-a*=2a
4b - a*

= =2
a

30.D) A, =Dx+51
A,=Dx +11

A,=Dx,+ 32
A +A,+A, D(x +x,+x;) 94

=4 D - D - D

Only one value possible = 52

val s

P
42 i+ 52
2 26
= 4
N
31.(D) 5o+ 24
=~  N=Dx +24
= SN=5Dx +120
5N 5Dx, +120
- oL S ooR)

D D
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Mother's « Number System (Part-12)

4 %17 -2x 24+ 3 %27

31

32.(C) Required answer =

=8
33.(A) N, = Dx+40

|
N, = Dx + 45

N, +N, D{x+y}+85

.~ Required Answer= 48
34.D) N=1056x+ 12

N 105x N 12

10 10 10

Can’t be determine.
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